Unisys Previous Paper Questions

Q1. In some game 139 members have participated. Every time one fellow will get bye.
What is the number of matches to choose the champion to be held?

ANS: 138

Q2. 96 16 81 =x
111518 =y
What is the value of y-2x?

a) 108

b) 33

c) 105

d) 36

e) None of these

Q3. A man walks east and turns right and then from there to his left and then 45
degrees to his right. In which direction did he go?

ANS: North west

Q4. x% of y is y% of ?
a) xly
b) 2y

C) X
d) can not be determined

Q5. In 80 coins, one coin is counterfeit. What is the minimum number of weighings to
find out counterfeit coin?

Q6. What is the output of the program?
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#include

main()

{

struct s1 {inti; };
struct s2 {inti; };
struct s1 st1;
struct s2 st2;

st1.i =5;

st2 = st1;

printf( %d , st2.i);
¥

ANS: nothing (error)

Explanation:

different struct variables should not assigned using = operator.

Q7. What is output of the following program?

main()
{inti=3;
while(i--)
{
inti=100
-
printf(%d..,i);
}

¥

a) infinite loop
b) error

c) 99..99..99..99
d) 3..22..1..

ANS: ¢
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Q8. 2 oranges, 3 bananas and 4 apples cost Rs.15. 3 oranges, 2 bananas, 1 apple
costs Rs 10. What is the cost of 3 oranges, 3 bananas and 3 apples?

ANS: Rs. 15.

Q9. What is the output of the program?

# define infiniteloop while(1)
main()

{

infiniteloop;
printf(DONE);
}

ANS: none

Explanation:

infinite loop in main ends with ; so loop will not reach end;
and the DONE also will not print.
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